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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the option that best represents the antonym of the underlined word in the sentence.

The scientis's research uncovered a previously unknown species of butterfly, hidden within the rainforest's
impenetrable depths.

visible

untouched

diverse

accessible

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Recycling

Recycling is the process of converting waste materials into reusable objects to prevent waste of potentially
useful materials. It helps reduce the consumption of fresh raw materials, energy usage, air pollution, and
water pollution. By recycling, we can contribute to conserving natural resources and protecting the
environment. It's essential to segregate waste into recyclable and non-recyclable categories to ensure effective
recycling processes.

What is recycling?

Creating new materials

Converting waste materials into reusable objects

Burning waste materials

Reusing broken cycles

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Recycling

Recycling is the process of converting waste materials into reusable objects to prevent waste of potentially
useful materials. It helps reduce the consumption of fresh raw materials, energy usage, air pollution, and
water pollution. By recycling, we can contribute to conserving natural resources and protecting the
environment. It's essential to segregate waste into recyclable and non-recyclable categories to ensure effective
recycling processes.

Why is it important to segregate waste?

To increase pollution

To ensure effective recycling processes

To use up natural resources

To increase waste generation

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Importance of Recycling

Recycling is the process of converting waste materials into reusable objects to prevent waste of potentially
useful materials. It helps reduce the consumption of fresh raw materials, energy usage, air pollution, and
water pollution. By recycling, we can contribute to conserving natural resources and protecting the
environment. It's essential to segregate waste into recyclable and non-recyclable categories to ensure effective
recycling processes.

How does recycling help conserve natural resources?

By increasing waste generation

By reducing pollution

By converting waste into reusable objects

By depleting raw materials

Q.No: 5 Choose the correct part of speech for the underlined word in the sentence:

She was waiting at the corner.

Preposition

Conjunction

Noun

Pronoun

Q.No: 6 Choose the word that means "to speak or write in favour of; support or urge by argument; recommend
publicly":

Denounce

Advocate

Abandon

Criticize

Q.No: 7 Arrange the following jumbled sentence into a coherent order:

A. Barks

B. The

C. Loudly

D. At

E. Strangers

F. Dog

B-E-A-C-D-B-F

D-B-E-C-A-F

B-F-A-C-D-E

D-E-F-A-B-C

Q.No: 8 Fill in the blank with the correctly spelled word:

The instructions provided by the teacher were ________,leaving no room for confusion or misinterpretation.

unequivocal

unecquivocal

unequivecal

unnequivocal

Not Answered

Q.No: 9 What does the idiom "spick and span" mean?

Neat and clean

Dirty and messy

Covered in dust

Painted and decorated

Not Answered

Q.No: 10 Choose the correct article in English grammar that completes the sentence:

French is ______ easy language.

an

the

a

No Article Required

Q.No: 11 What does the term "make amends" mean?

Retribution

Exonerate

Atone

Vindicate

Not Answered

Q.No: 12 Choose the correct option that completes the sentence logically and grammatically:

The professor asked the students to complete ________ preparations by friday.

our

his

their

its

Q.No: 13 Choose the correct option that completes the sentence logically and grammatically:

We did it _______ we felt it's our duty.

because

and

but

so

Q.No: 14 Choose the correct part of speech for the underlined word in the sentence.
The library has a vast collection of books.

Adjective

Verb

Adverb

Noun

Q.No: 15 Choose the sentence with correct punctuation:

I'll be there at 3:30 p.m.

I'll be there: at 3:30 p.m.

I'll be there at 3;30 p.m

Ill be there! at 3:30 pm

Q.No: 16 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

He stole that watch.

That watch stole by him.

That watch was stolen by him.

That watch stolen by him.

That watch had stolen by him.

Q.No: 17 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:

She is the best singer in the class, _______?

is she not

is she

has she

isn't she

Q.No: 18 Which verb form is NOT used in the simple past tense?

wrote

played

have been

went

Q.No: 19 Choose the correct part of speech for the underlined word in the sentence.

The marathon runners displayed impressive endurance throughout the race.

Noun

Verb

Adjective

Adverb

Q.No: 20 Choose the option to correctly complete the sentence in the past tense:

Kajal______ to the super market yesterday.

will go

went

go

going

Q.No: 21 Which of the following is the synonym of 'bright'?

radiant

sombre

dusky

gloomy

Q.No: 22 Fill in the blank with the most appropriate punctuation mark.

After the rain stopped_____ we went for a walk.

question mark (?)

exclamation mark (!)

period (.)

comma (,)

Q.No: 23 Choose the correct word for "A person who creates art using various materials":

Modiste

Musician

Sculptor

Writer

Q.No: 24 What is the plural of "Baby"?

Babyes

Babys

Baby

Babies

Q.No: 25 What is the Synonym of "Serene"?

calm

stormy

agitated

turbulent

Not Answered

Section - II (Odia)

Q.No: 26

Not Answered

Q.No: 27

Not Answered

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 The average of five
numbers is 25. If each
number is multiplied by
4, what is the new
average?

Q.No: 52 The ratio of Science
teachers to Maths
teachers in a school
is 1:2 . If there are
45 teachers in total,
how many are
Science teachers?

Q.No: 53 If you roll a fair six-sided dice, what is
the probability of rolling a number
greater than 4?

Q.No: 54 What is 15% of 90?

Q.No: 55 Simplify:

14 14

11 11

13 13

12 12

Q.No: 56 A sum of Rs.20,000 is lent at an
annual interest rate of 1%. What will
be the simple interest after 1 year?

Rs. 150 Rs. 150

Rs. 100 Rs. 100

Rs. 200 Rs. 200

Rs. 250 Rs. 250

Q.No: 57 A, B and C can
complete a piece of
work in 24, 6 and 12
days respectively.
Working together,
they will complete
the same work in:

7*(3/5) days

3*(3/7) days

4 days

7/24 days

Q.No: 58 The speed of a train is
25km/h. How long will
it take for the train to
travel a distance of
200,000m?

Q.No: 59 Tickets numbered 1 to 20 are mixed up
and then a ticket is drawn at random.
What is the probability that the ticket
drawn has a number which is multiple of
5.

Q.No: 60 The total age of 3
siblings is 86, which
is twice the age of
Sunil. What is
Sunil's age?

89 years

40 years

83 years

43 years

Q.No: 61 Simplify:
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Q.No: 61 Simplify:

Q.No: 62 If the cost price of an
article is Rs.50 and
the selling price is
Rs.35, what is the loss
percentage?

Q.No: 63 What is the Least Common Multiple (LCM) of 16
and 20?

Q.No: 64 A person runs at the
speed of 8 meters per
second. After 50 seconds
how much distance he
covered?

600 meters

400 meters

500 meters

300 meters

Q.No: 65
Ravi invested Rs.50,000 in an Fixed
deposit. In three years how much
compound interest will he get, if the
first year rate of interest was 5% ,
second year had 3% and third year
had 6% more than second year?

Rs. 8841.75 Rs. 8841.75

Rs. 9941.75 Rs. 9941.75

Rs. 9841.75 Rs. 9841.75

Rs. 8941.75 Rs. 8941.75

Q.No: 66 Simplify:

Q.No: 67 A Kabaddi team played
36 matches in the
tournament out of
which they lost 18
matches. What
percentage of match did
they win?

Q.No: 68 Ramesh is 10 times
older than his
grandson. He is also
54 years older than
him. Find their
present ages.

Q.No: 69 Simplify:

Q.No: 70 A merchant purchased
10 kgs of mangoes for
Rs.2200. He then sold
them at the rate of
Rs.330 per kg. Find the
profit percent ?

15% 15%

20% 20%

50% 50%

25% 25%

Q.No: 71 The length and breadth of a rectangle
are in the ratio 3 : 1. If the breadth is
7 cm, then the length of the rectangle
is ______.

Q.No: 72
A vendor buys 10 kgs of Onion and
10 kgs of Tomato from the market,
each at Rs.30 per kg. He sells Onion
at Rs.50 per kg and Tomato at Rs.15
per kg. What is his loss or gain
percent?(Approximate)

8.33% Profit

8.55% Profit

8.11% Loss

8.22% Loss

Q.No: 73
The Highest Common Factor (HCF) of two
prime numbers is always _____

a larger prime number

a smaller prime number

Q.No: 74 The average of 40
numbers is 20. If three
numbers 60, 37 and 53
are discarded, find the
average of the remaining
numbers.(Approximate)

16.25 16.25

18.72 18.72

15.32 15.32

17.57 17.57

Q.No: 75 If A and B together
can complete a
piece of work in 4
days and A alone
can complete the
same work in 8
days, in how many
days can B alone
complete the work?

8 days

24 days

16 days

4 days

Section - IV (General Knowledge)

Q.No: 76 In which part of the Indian
Constitution, we find the
provisions relating to
fundamental rights?

Part IV

Part V

Part III

Part I

Q.No: 77
Biological magnification refers to:

The system of consumption of various foods

The micro and macro organisms that live in an
ecosystem

The increase in the concentration of toxin as they
pass through the food chain

The number of levels in the food web

Not Answered

Q.No: 78 The National Defence Fund in India is operated by:

Office of the Prime Minister

Office of the Chiefs of Staff

Office of the President

Office of the Defence Minister

Q.No: 79 Who among the following is
best known for playing Harry
Potter in the Harry Potter film
series during his adolescence
and early adulthood?

Daniel Jacob Radcliffe

Mathew Lewis

Alan Rickman

Tom Felton

Not Answered

Q.No: 80 Who discovered the sea route to India?

Thomas Edison

Warren Hastings

Robert Clive

Vasco da Gama

Q.No: 81 Rabindranath Tagore started
Shantiniketan in the year _____.

Q.No: 82
The Headquarter of UNESCO is at:

Paris

New York

Geneva

Washington DC

Q.No: 83 Which statement is correct,
based on how National
Highways are numbered in
India?

North-South highways carry odd
numbers.

East-West highways will increase
their numbers from North to South.

All major highways will only have a
single digit number.

North-South highways carry even
numbers.

Q.No: 84 When was the Swadeshi Movement implemented?

16 October 1905

19 July 1905

7 August 1905

5 September 1904

Q.No: 85 What is the full form of NASA?

National Aeronautic and Space Automation

National Aeroplane and Station Administration

National Aeronautic and Space Administration

National Aeronautic and Specified Administration

Q.No: 86 Which one of the
following statements
holds true for a
human being?

About 10% of all the food
consumed by it gets converted
to its body mass and is made
available for the next level of
consumers.

About 2% of all the food
consumed by it gets converted
to its body mass and is made
available for the next level of
consumers.

About 22% of all the food
consumed by it gets converted
to its body mass and is made
available for the next level of
consumers.

About 12% of all the food
consumed by it gets converted
to its body mass and is made
available for the next level of
consumers.

Not Answered

Q.No: 87 What is the full form of “SCOPE”?

Standing Control of Public Enterprises

Standing Conference of Public Enterprises

Standing Control of Polite Enterprises

Standing Condition of Poverty Enterprises

Not Answered

Q.No: 88 What is the
most
commonly
used
method of
storing and
conserving
water in
Shillong,
Meghalaya?

Wells

Dams

Bamboo drip
Irrigation

Rooftop rain water
harvesting

Q.No: 89 As per the will of Alfred
Nobel, How many Nobel
Prizes were originally
awarded?

7

6

4

5

Q.No: 90 What is the local currency of Bahrain?

Bahraini Dinar

Bahraini Rail

Bahraini Dollar

Bahraini Dirham

Not Answered

Q.No: 91 Dr. Abdul Kalam Island is located in which state?

Andhra Pradesh

Odisha

West Bengal

Tamil Nadu

Q.No: 92
Who is the author of the book "Ignited Minds"?

A.P.J. Abdul Kalam

Adolf Hitler

Aravind Adiga

Homer

Not Answered

Q.No: 93 Robin Hood effect is related to which of the
following?

Income and consumption

Taxation

Income generation

Income redistribution

Not Answered

Q.No: 94 The very first session of
Indian National Congress
was held under the
presidentship of
_______________.

A.O. Hume

W.C Banerjee

Anand Mohan Bose

Mohan Lal Ghosh

Q.No: 95 Which of the following is an example of
non-conventional resources?

Petroleum

Coal

Wind

Natural gas

Q.No: 96 Who was the first person to receive Bharat Ratna
posthumously?

Sarvapalli Radhakrishnan

Lal Bahadur Shastri

Jawaharlal Nehru

APJ Abdul Kalam

Q.No: 97 Who is believed to be the author of Natyashastra?

Valmiki

Jaimini Muni

Bharata Muni

Vasishta Muni

Q.No: 98 When is the International Day of Human
Fraternity observed annually?

February 4

February 3

February 2

February 1

Not Answered

Q.No: 99
'Meningitis' is a disease that affects the:

Urinary System

Intestinal System

Lungs

Central Nervous System

Not Answered

Q.No: 100 The Indian Diamond Institute is situated in which
city?

Delhi

Surat

Ahmedabad

Mumbai

Section - V (Computer Knowledge)

Q.No: 101 A ________ can be a
hardware device or a software
program that filters all the
packets of data that comes
through a network, the
internet, etc.

Trojan

Antivirus

Malware

Firewall

Q.No: 102 Which of the following is a hardware
and not a software?

Operating system

Memory devices

Web browser

Firmware

Q.No: 103 In the context of Networking, What is the full form
of TCP?

Transferring Common Protocol

Transfer Control Protocol

Transmission Control Protocol

Transmission Condition Proctor

Q.No: 104 The letter and number of the
intersecting column and row is the
_______.

Cell position

Cell address

Cell location

Cell coordinates

Q.No: 105 What is the second smallest unit of
storage amongst the given options?

0.25 Kilobyte

1 Nibble

1 Bit

1 Byte

Q.No: 106 In computer monitors, What does CRT stands for?

Central Random Tube

Cathode Ray Tube

Cadmium Ray Tube

Crystal Ray Tube

Q.No: 107 What does "CC" stand for in email terminology?

Closed Copy

Computer Copy

Complete Copy

Carbon Copy

Q.No: 108 What do you understand by the term 'booting'?

Connecting computer of the electric switch

The process of shut down the computer

Increasing the memory of the computer

The process of starting the computer

Q.No: 109 What is the abbreviation of IDS in computer
security?

Include Document to System

Intrusion Detection System

Internal Document Securing

Internal Detection System

Q.No: 110 Identify the correct
statement regarding
internet and intranet.

An intranet is used by a multiple
organization, while the internet is
global.

An intranet is used by a single
organization, while the internet is
private.

An intranet is used by a single
organization, while the internet is
global.

An intranet is used by a multiple
organization, while the internet is
private.

Q.No: 111 In MS-Access, a table can
have _______ primary
key/keys.

Four

Three

Two

One

Not Answered

Q.No: 112 Parallel port is also called as :

Printer port

Scanner port

Digital port

Modern port

Not Answered

Q.No: 113 What are the basic rectangular building blocks of
a spreadsheet?

Zoom slider

Columns

Rows

Cells

Q.No: 114 Which process checks to
ensure the components
of the computer are
operating and connected
properly?

Saving

Processing

Editing

Booting

Q.No: 115 In PowerPoint, Selecting Portrait changes
our page from:

a wide to tall orientation

a condensed font size to a normal one

a normal font size to a condensed one

a tall to wide orientation



a tall to wide orientation

Not Answered

Q.No: 116 ''http://www.
google.com/services/index.htm''
From above, What is "google.com" known
as?

Web page

Domain name

Directory

Protocol identifier

Q.No: 117 Full form of SMTP is _______.

Simple Mail Transfer Protocol

Simple Mail Transferring Program

Secure Mail Transfer Protocol

Single Mail Translating Protocol

Q.No: 118 In Access,_____ are used to store the data.

Form

Table

Query

Report

Q.No: 119 Name the mode of
transmission in
which the
communication
takes place in two
ways or bi-
directional
simultaneously:

Simplex

Half-Duplex

Full-Duplex

Double-Duplex

Q.No: 120 Which of the following statements is true?

Internet is private, while intranet is public

Internet is public, while intranet is public

Internet is public, while intranet is private

Internet is private, while intranet is private

Q.No: 121 _______ is data that has been
organized and presented in a
meaningful fashion.

Information

Software

Data

Storage

Q.No: 122 Data or information used to run the computer
is called:

CPU

Peripheral

Hardware

Software

Q.No: 123 Which of the following topology
is not used in Local Area
Network?

Star

Ring

Bus

Random

Q.No: 124 What is the function of an email attachment?

To provide sender's information

To convert all text to document

To include a signature at the end of the email

To send files or documents along with the email

Q.No: 125 Intranet means:

a Wide Area Network connecting all branches of an
organization

a LAN of an organization

a corporate computer net work

a network connecting all computers of an organization
and using the internet protocol

Section - VI (General Science)

Q.No: 126 Suppose I'm walking in the jungle
and get stung by stinging nettle
leaves, what can I use for relief?

rubbing the area with the leaf of the neem
plant

rubbing the area with the leaf of the tulsi plant

rubbing the area with the leaf of the dock
plant

rubbing the area with the leaf of the turmeric
plant

Q.No: 127 What does the strength of the magnetic
field produced by a current-carrying wire
depend on?

Current passing it

Resistance to it

Voltage received to it

Capacitance

Q.No: 128 Normal human red blood cells have an average
life span of about

360 days

60 days

10 days

120 days

Q.No: 129
______ part of the plant primarily
synthesizes products of photosynthesis

Leaves

Flowers

Roots

Steam

Q.No: 130 Which of the following is an In-situ way of
conservation?

Wildlife sanctuary

Seed bank

Botanical garden

Zoo

Q.No: 131 Which part of the brain's complex
design plays the role of conductor,
coordinating many physiological
functions and preserving
homeostasis?

Hypothalamus

Pineal Gland

Reticular Formation

Thyroid

Q.No: 132 Ceramic is ________

A metal that allows electricity to pass through

A stimulator

A bad conductor of electricity

A good conductor of electricity

Not Answered

Q.No: 133 Which one of the following shows the
correct relationship in terms of reactivity?

Q.No: 134 How does water move from the soil into the roots
of a plant?

Diffusion

Photosynthesis

Ionization

Osmosis

Q.No: 135 What is the term for the process
where the seed develops into a
seedling under appropriate
conditions?

Fertilization

Maturation

Pollination

Germination

Q.No: 136 During which phase
of life does the
maturation of
reproductive tissues
become a major
priority?

Immediately after birth

Old age

Infancy

Puberty

Q.No: 137 What is the primary function of
nephrons in the human body?

Breaking down ATP to provide energy

Synthesizing glucose from excretory products

Removing soluble nitrogen compounds as
excretory products

Transporting oxygen in the circulatory system

Q.No: 138 The rate at which electric energy is
consumed in an electric circuit is
referred to as ________

Electric power

Electric volt

Electric circuit

Electric station

Q.No: 139 When liquid boils, it changes to
_______

Plasma

Solid

Gas

another liquid

Q.No: 140 A solution turns red litmus blue, its pH
is likely to be

Q.No: 141 Montreal protocol is related to:

Fossil fuels

Ozone layer

Greenhouse gas

Endangered species

Not Answered

Q.No: 142 In which division of Kingdom Plantae will Funaria
be classified?

Phaeophyceae

Gymnosperms

Bryophytes

Pteridophytes

Not Answered

Q.No: 143 Why gallium and cesium have low melting
point?

They are alkali metals

They have high densities

They have Strong metallic bonds

They are non-metals

Q.No: 144 The increasing need for energy in
the first half of the 20th century
was mostly satisfied by
________________.

Bio-Mass

Fossil Fuels

Nuclear Energy

Wind Energy

Q.No: 145 Pavo (Peacock) is an example of Class ____

Aves

Reptilia

Amphibia

Mammalia

Q.No: 146 Which of the following is a non -renewable source
of energy?

Solar

Geo thermal

Wind

Uranium

Q.No: 147
____________ method is suitable for
preventing an iron frying pan from
rusting.

Applying grease

Applying a coating of iron

Applying paint

Applying a coating of zinc

Q.No: 148 ________ is the term used to
describe characteristics that are
similar in different organisms
because they are inherited from a
common ancestor ?

Homologous

Analogous

Modified

Unique

Q.No: 149 Floods can be prevented by _________.

Agriculture

Deforestation

Removing top soil

Afforestation

Q.No: 150 What is near-sightedness also called?

Hyperopia

Mesopia

Hypochondria

Myopia


